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And perhaps to exclude a Zov from days — 2o 27 LIRS RADTY

OVERVIEW

"1 cites the P05 of NXM to teach us that a 727 is not N1PX12 Xawn, only 2n*a.' The
X3 asked, perhaps the 1y°n of N1 excludes a a1 from 2. MoEIN discusses the
intent of the Jwpn.’

moon clarifies the intent of the s'X713 question:
— *nNtm PINYY )5 ONY *meNa) nat XY AN 19919 S¥a N9

And the X713 does not want to say, ‘but the nXm does not exclude a 127 from
neKR2’, for if a 727 is not excluded from N1°X" (but becomes a 71271 either from 2% or
n1XA), let the 7105 be silent from 'NR™'; we do not need the exclusion of NXM.

mooin offers an alternate understanding of the jwpn:
TINY N ’1mv: 7299199 6NW",7’1‘1N 790 NYPNRN "I ON

! She becomes a 79173 721 (which requires 0™p1 7 and a 127p) only if her three n1°"X" were on three (consecutive) days
(this is referred to as 2°»°), but not if the three n1°X1 took place in one day (this is referred to as n1X").
* One becomes a 21 if he sees three NX (in one day). According to the conclusion of the X723 he also becomes a 21
if the three n1°X1 were in three days. At this point the &7 asks that the nkm should exclude the 27 from becoming
072 Xnv, he should become a 27 only N1°R72 (three on one day).
? The question can either be a) that the nXn exclude only a ar from 2%, but it does not exclude a 721 from NPX?
(which would make her a 727 either by 2" or n1°R7), or the question may be b) that in addition to excluding a 7127
from n1R7 it should also exclude a 21 from o°»° (which would make a X»v 271 only by n1X" and a 121 only by ).
[According to this option (b) it will be necessary to interpret that which the X723 states 737 *DWn? DRI ORTT ORI
N1XIM to mean how do we know that XM is vymn exclusively a N1°X7n 721 perhaps it is also bynn a 0n°» 21.]
* mooIn is negating option ‘a’ (mentioned in footnote # 3) , but rather the question is let X1 also exclude a 0°n ar
in addition to excluding a n»&7n 721 (option ‘b’). [It seems (from this '01n) that the question of 131 Xn?>7Y, is not
referring back to refute the answer of 1", but rather the X3 is now discussing the w17 of 'NX1'.]
> If the intent of the XN is only to exclude a 0»*» 21, there is no need for this exclusion for why will I think that a a1
is @ Rnvn; since all we know from the 109 is that a 21 is N1°R72 Xxvn (which is a case of 17°p), why would we
think that he is Xnvn also by @ (which is pr»7)! However if we assume option ‘b’ that nXm excludes both 721 (from
n1R7) and 21 (from 1), it is understood that NXT is necessary to exclude 7727 from N1°X7 (even though she is XNV by
P17, nevertheless she is not XnY by 27°2), and we also need nXN to exclude a 21 from N1°X7, for without the Nk we
can argue that if n1°X7 which are 70 by a 721 (from nX™M) are nevertheless Xnv by a 21 (proving that a 27 is more
severe than a 721), therefore 0> which are Xnv by a 727 should certainly be Xnv by a 2ar1; the nXn teaches that
notwithstanding this 1" a 27 is not X»nvn by 2.
® The question is indeed that n&n should exclude only a »*» ar and not a n1X» 721 (option ‘a’), and the reason we
need a VWn (see footnote # 5) is because there is a W of 713121 1212 which could teach us that just as a 721 is Xnvn
0742, SO too a 27 can be 0’2 RXMvn, therefore the V1¥°n of NXM is necessary to exclude a 21 from a»°. See “Thinking it
over’.
7 The Xm3 asks why we use the vy of N1 to exclude a 72t from n1X1 and the wpo to include a 21 for o, let us
say the opposite that nXM excludes a 21 from 0°»° and the wp>i7 includes the 7121 for NRA. Similarly here the Jwpn asks
that since there is a wp°n1, we need NXN to exclude 21 from o°».
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Or you may also say; that the ywp» depended on the wp>7, and as the X973 asks
later, ‘why did you see’, etc.

SUMMARY
The question of D°°n a1 *VWNY X”?7) can mean to also exclude 27, or to only
exclude 2.

THINKING IT OVER

The X1 asks n°X7 7n; why don’t we say that nX™ excludes a 21 from 2°»° and the
wp 1 includes a 721 for n1°X7. However according to mdo1n that the only reason we
may have assumed that a 27 is NMX72 XYM is on account of the WP’.‘{,S 1t 1S obvious
that the nXM is not excluding a 21 from n1XA, for if that is the intent of the 109, let
it not write the” wp 1 so there will be no way to assume that a 21 is 2°»°2 Xnvn (since
it is pr*) and we will not need the exclusion of nxn.'”

¥ See footnote # 6.
 We do not need the wp 1 to teach us N1°X12 17271, for we can derive that from a 1"p if pr» then 27°p w"'5!
10 See xa R"wAn.
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